Jodogdotdodbododbobobooougogno

2008 0 2 [
oo 100 oo oo

O000000000000000O000 (DO0D0D0ODOU00D)D0Do0DoOOoDoOooO
goobbbobboogoobooobbobbbuogobobooobbbooaao
gbobbooobbobbooboobooobobboobbobbobobooo
O0D0000000000 Poisson OO0 OODODOO0OO0OO0OO0OOOOODOOO
goboboboboogooobbobooobbobbbobbbobbooobbo
gobooboboboobooobbooboooobboobOod Poissondogog
D00bodideelwlpbOobDOO0ObOOO0OODOO0OOODODODOOOO0O0O0O00
gogd

gbobooobbooboobbobobooooobbobboobooogaa
godobobbuobouoooooobboboooooobobooooboooooon
gooobuoobooouobdooobooobooobobboobobobobo
gbbooobboobobooboooob

gobobboboooooobobobooooobobbobboooboboobbbon
00000 (ObooDO0o0o0000000DoO0ooOoOo0DO0oUUOoOooooO)oDOoOgo
goooobbobboogooobooooboogoboobooooooooonon
gogogobbbobuoooooobbbbooooobobbbuoboogob
gogogoboobobotoooboobobbooobooobooboooboobobooo
gooobbooogoouaoooobn %DDDDDDDDDDDDDDDDDD
O DiracUUO0O0O0O0O0O0O0O0OOOOODOOODOOOODODOOOODOODDODOOO
no-sea UUDDODOODOOODOOO0OOO0O0OODOOOO0OODOOOOODO

goboougobooobbobbboooooobbbobobooobbbobo
gogoobdodougbobbuoobuooboboboogobaobobboboabon
gbooogouobbobogoboooboboobbbooobobbooooo

gbobooogobobbobbobobbbobobdr=0000r—00000dn
gobbobooogbbobbobuodboooooboobboobobobobobboobon
0000000000 00000000000000000000 (matching point)
godbbboobodoob oo oooobobbboooooonooonobn
gbbbbobooobooobbbbbuooooobobbobooooooboooon
000000000 matchingpoint 0 00000000 O0O0OO0OOOOOOOOOO
godgbbbobogobbbbbbodobodoooboboobooooaao
gbhbbobooooobbogbobboooboobbuooooobobogbo

gbbobubodouoooobbbboooooobbobbbouoooobg
gobobobboooooooobbbbuoouuboobboboboobobobo
goboooougbo



20081 201
Juuno gy oot gbduog
180y 100 0 0o



010
1.1
1.2
1.3

020
2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8

030
3.1
3.2
3.3
3.4
3.5

040
4.1
4.2

4.3

4.4

us0

00

ggbbooboooood
goboboooooobon
goboooogdn
gboboboogboo

gogoooo
oogoooo ...
gogooo ...
gboooodooogn
goboboogobd
goooo ... ..
gobogboooood
gooooooobg .
goboooogodn

ggoobgooood
gooooag ...
gooboooooobd
gogoo ... ..
gobboobooogaoo
goooooag ...

oooooooooon
goooo ..., ..
gooo ... ...
421 r—=4+00000

I

god ...

I
OO

I

O

O

422 r—4ooUODODOOO ..o o

gbooobobooboob

O

4.3.1 Matching condition . . . . . ... ..o
432 0000ODODODODOODOOODOOO ... ...
4.3.3 Matching pointO OO . . ... ... ... ... .. .. ...

gooboooboon

ggbboooaod

TUOU

© © o o

10
11
12
12

13
13
13
14
14
15

16
16
16
16
17
17
17
18
18
18

20



060 00OO0DO0OODOOOO
61 0000000000000 00000 . . . oo,
62 0000000000000 .« . o 0 oo,
6.3 V,V, 00000000 . . oo,

gvh 0doooOon
T1 28Pb .

7.2 0Ca .

gs8b 40oo
gooo
HEN

O0ADODO
A1 OODOODO ..
A2 OO e
A3 O0OO0OOODO ..o s e e
A4 OODOODOODO .. s e

O 0B OOODODOOOOO
B.l DOODOODOOO .. e s s e
B2 00000000000 .. .. e
B3 ODOOOOOOO ... e
B4 O0OO0OO0OD0O0O0OO .. e

O 0CoOOoooobooooono
0 0D 400 Runge-Kutta
O0OE O0ODOODODOOODOOO

O0DF ODOOO0OO0d

22
22
22
22

24
24
24
25
29
29
30

32

32

35

36
36
38
40
42

47
47
49
o1
53

58

62

63

67



L] [

O00o0ooO000Oo jooo0oo0oo0oooooogooooooo oo
Jo0odooooooooooobooooooobooboboboboobD obobboooon
000000000000 oo0oodoOoooooOooooooooobooooooOon
dddoooooooooooboobooooooooooboooooooooooo
O00000-00000000000000000000000 (00 [2,3,400)0
0ddoobooodoooooooooooooooobooOoooooooboooobooao
0000000o0o0oOoOoOoOoOoOOoODOOODOOOODOUDODODOODODOOOOO0O (O
0[400) 0000000000000 00O00OO0OO0O-0000OODOObOOO
0000000000000 0000000oooooogoooooo (14, 15, 160
Brueckner-Hartree-Fock D OO0 OO0 00000000 OOOOODO-0000000O
0d0oo0o00od0o0oooood0ooooooooooooooboooOoOooOon
0000000000000 0U0DOOoOoDOOOOOOO 17,18, VD 0oooooo
0000000000000000 00000000000 0o0o0ooooooon
000000 ¢-0 (classical number) 000 0 0000000000000 O0O0O0OO
Od000dd0dd0ooooooboooooooon

0000000000 OHartree-Fock OO OO OO OO Hartree-FockOO O OO0
O00000000O0OoooooobOod0oooooo0oooooooooooooao
00000000000 SkyrmeO [20) 000 OGogny O [21]0 0000000000
00000000000 odddddd0oo-00000oo0DoOoooOooOon
0000000000000 00000000000000000000A0 (effective
interaction) 00 0 0000000000000 O0OO0OO0OO0OOOOOOODOOODOO
000000000000 00b00o0o00b000ooOoooDO0oDo00ooooDOoOn
0000000 0d0d0ddooooodoooooooooooooboboooOooon
00000000 (000000 00)0D000oo00ooDoooOoooooooooo
0000 ododoboobood00dboobDoooDoo0oooooooOoooon
0000000000000 00000O0000000000O0O0oO0OoDooboobOOoao
00000000o0o0ooO0ooo0ooooooooobD0oooooOooboOooooooa

000000000000 ooobod00o0ooobDoOoO0o0ooooooDooOon
000000000 CO00D00D0O0000ODOoO000ooooooD 2210000
00000000000 000000b0O00b00o0o0ooD0o0o0oooOoooaOon
000000000000 ooOobDobD0o0oOooOoObOOooDooOoOoooooOooOooao
000000000000 0do0ooOoOo0d00oooooobOoooooooooooo
0000000000 obo0odo0oooboooDoooooOooDooOoOooOoOon
O0D00ooOooooooooao



10 Udoddboood

googbbbouooogbobbobbogobbobbboobogoobooboo
oboboobobbdo —oboouoboobobobobobboooobobooog
U—ogobooboogan

1.1 O0O00ooooouobooon

0000000000 DO000O0bO00o0obOOoobooDobObOoOoooDooooog
000000000 ADDODOOOOOODODODOODOOOOODOODOOODODO
0000000000000 0DboO0oD0DbO0o0obO0o0o0ooooDooDooDooooOOoon
O00b0o0ob0o0obo0oobobooouooboob0oboobooobDooboOobon
00000000 00o0ooUoUoooooOooOOOoUOooO)Joooo (oooOd
OOoo0oooOoOoOoDoOoOoOoOO)IoOoOO0OO00O0ODoOUOUOU0COCOODDODOOOOOOd
goo7rooooobooooooono0 JorToooooooboobooooboo
OoodobooobobobbbobobobooooobUoobboooooboboboobOon
00000000 (0000000 ooooooooooUoooo LILT000
Oo0o00o0oO00O0OQO0oOoC0 JOoTOOOODODOODOOOOO)DOoooooooDOod
J00000000000 one-boson-exchange potential 1 OO0 DO OO0 OOOMO
000000000 (23,24 0000000000000000O0OO0OOOOOO0O
000000o (J=000oooooo (J=1)oooooooo (r=00000
0000 (T=1)00000000000D0000DDO0ODOOO0DDO0ODOOOOOOO
00000000000000000M00000000(l=—(-1)/)0D0000
000000000000 M 00000000 =(-1)/0000000000000
oooor000O (J=0,ll=—T=1)0n000 (J=01I=—-T=000000
gbooboooobooboooboooog

O00D0000ooooog &)
0000000000000 v,(a*)
0000000000000 R,(z4)
0000000ooooooono A,(efo00

=2 © & QqQ

gooogg
o,w,p00000000O00O0DOO00O0O00DOOO0OOOOOOOODOOOOOOO0

ogoobobdbboobobobbuooob oo obbooboobboo

gooooobbooooobodboo,w,pdbobobogobbobooobog



gbogbdodbutdtdpddboouogbbuouoguooguoobooobodaog
gobobogboogbbooooooooboboobbooooboobbbon
000000000000 000000 (6000)000o00ooOoooooooog
gobooon

1.2 0000000000

oo bobooooooboobooobooobbobboo oo
0000000 (0000 «¢00O0)00000000DOo0O000oooooooood
goobodoooooooood

L =1 (iv"0, — mg) 1 + LI — g, D9

OoooooooooooobooooooooooboooooOoobooboooOoooOoon
ooooOo0ooooO0o0oboooooboo ¢o0ywOOOOOOOOOODOOODODOO
OOo0O0boO0ooo0o0ooooobobooooobooooooooooboooooboOooon
ooooooooooooooobo0ooooOooooboobooooooOobooOoOoOoooDobo
Oo0oo0O0ooO0ooooooooOoOoboOoOoOCObOOO0O0O0OODObOOObOOn0O0OOd
O00000000000000000000000000000DOOOO0OO
Oo0o0odooooboOooOooooboooooooobOOoooooooooooon
0000000000000 0000000000000 -0 (classical number) 0 O
gooooooooooobooooOooOoOoOoboOOoOoOoOoOobOOo0OOoOoOoboOoOn
OO0o00000ooo0oooooooooooboooooooOoboooobOb0ooOonO
O000000oooooooooooooooooaon

O —D=<D>

godoobbogoooobooboooboobobobbobboobooobd
gboodoboobuoodaboooboobboobooooobboooboobon
gbgoboobboboboobobobooobboooboboobboobobo
gogmgbgobooboobobooobboboboooooobaooobood
gbobobobbobboobobooobbobobobobboobobobon
gobboboboobbobouobbooobbbobmuogououbooooboooy
goobooooobobobobobooon

1.3 0O0oooboobuooboon

gbobboobbougobbbbbbboooobobobbobouboooobobg
obobobobobboboboobobuooooooboobg vwO

Y= Z Pa(T")aq



oboooboobodbuoegoobobobbobobooobbdae, 00 OO0
000000000000 0¢.(x*) 0000000000000 O00D0O00O00O00O
000000000 (ooo0ooooooooo)oo

<: @/;1/} :>: Z@MDQ_ Z @gee(pgee (1'1)
a<F a<Fy
DDDDDDDDDDgogeeDDDDDDDDDDDD(DDD)DDDDDFODDDD
o00DO0D0O000oOoooobODO FOODOOOODODOODOD ADDODOOOO
oooOoooooOooOo (1.)oooooooooooOo (ooooooooo)oo
000000000 (0 1100) 0000000000000 0oooDoooooOo
gooooooooooooogooooooooooooooooooooogoon
oo uooodoouboooooouoooooooooooobooo
0odooooooooooooododoboooooooouooooooogad
oo ouooooobooooooooooo
0oddodooooooooooooooooooooooboooooooon

(1.)0000

A
<: &Qﬁ :>: (Z PaPa — Z wgeewgee) +Z@a¢o¢
a<Fy a<Fy a=1
0000000000000 0 FyO FOO0OODODOOOOODOO ADODODOOOO
00 FOOOODODODOODOOO0OO0OO0O (0 1100)0000000000000000
oo oooooooooooooooooood
ooodbood e=1,---,A0000000 AOOOOCODOOOOOOOOOOOODO
O00000000000000Onoseadd (OOO00OODODOOODOOODOODOO
O000000000000)000DO00o0oooooooooo

A
<: it :> ~ Z PaPa
a=1

gggoobuoooooboobobbbooobobobobobobgoan
O1igdbogoboboooooooobbobooob oo b KROO
OooboOboOoO0OoOOOooOobooboobOrOO0ODbDODOOOODOODDbDOO AO
oboobooooooboboboboboooobobooooooboobobobh FOOOOOO
000000000000000000 0000000000000000000
gobbouoggbbboboooooboboboobououobobboobbobooon
gbbuooodguggbobodgbuobbuoooobboooobobooobboon
gggbobboooboooobboobobooobuoooboooboobobon



IE I L —@isth i

mB e

F ....................... 3:_‘.P.
/"F!ir R

/ Sﬁ::l.

E& ..........................
[] >
r

A\
\ BIpILE—D
\ ok
B8 IFILX—OEEREE

01.1:0000-00000000000000000000O00O0000O (C00O)O



20 Oo0ooudgd

21 0O0O0O0O0O0O0O

gobobbooboooboboboooooobbobobbobooooboob
DDDDDDDDDDDDDDDD(DDDDD)DDDDDDDDDDDDDD%D
ggoobbboooobobobbbotbooooobobbboooobobooobobobo
gbbbooogbbobobobudgobooobbobobobobooon
gobboobboogoogobboobboogobobooboooouoooooobo
gobobooobboobbuoooboboboobbbbooboobobuouobDb 21

U 21000000

O

O

0|00

l3

T3

N | =

el S

DDTDDDDDDDDDDDDDDDDtDt:%TDDDDDDDDDDDDDD
gogbod«gob 0000000000 0bO0O0bOonOO

22 0O00O0OOO
000000000000

ggd S =
ooooono T=

D= N[

goobobobobooodgboboobobboboooo

00 : m, = 93827200 MeV/c?,

D00 : m, = 939.56533 MeV/c”

n

000 (25000 00000000000000000000000000000 [22]
000000Om,=m,=939 MeV/c> 0000



23 UO0O0O0OO0O0OO0OOO

00000000 (0000000000000 0)Obo0o00Oo022000000
00000000 000D00O000O0000 (yooODoOooooog 22000008
O00007T00000000mO0O0O0O0 (MeV/c>)Og?000000000000
ooboooOoooooooobod g,=e0000000O0 ReODOOOOOOOOOO
00000 a=1/137.036 0 4700000000

U 22000000

S|T|MMeV/?) | £ (0ODDO)
olo]o 520 109.626
w|1]0 783 190.431
pl1]1 770 16.3065
Y1110 0 13?.7636

24 UU0Uobobobooboobodod

gbbooobobbbuobobuobabdobboodan

01, 02, 03 )

01 0 —1 1 0
, 02 = . , 03 =
10 1 0 0 -1

(
(
o = (o an ay)
(
|

I 0 I = 10

0 —I 01
o (I 0 (0 o

7 N 0—177_ —O'Z'O

000y0000000000000 (Standard representation) 00 000 DiracO O O
0000 Pauli-Dirac0 0000000000000 OO0OOO (Chiral representation,
WyleDOOOODO)O MajoranaO0 OO O O0O0OO0O0O000O0O0O00OO0OOO0OO
OooooooooooOooooboOooooobooooooooOobOOoOoODOOoOon
O00000000oo0oo0o0oo0ooboo0on

01 =

a; =



25 0O0O0OOO

gboboodobooooobboooobbbbooobbon

h=c=1 (00O0O0OOODOODOO

0000
00000000000000000000000000000000000000
000000000000 MeVOOOOOOOO0O0000000000mO00000
00000000 0Om0 kgDO0O0O0000000 (0000 m,=1.672x10*kg) 0
000000000000 me0 MeVOOOOOOODO (0000 m, = 938.271MeV)
00000000000000000¢#00000000000000002200 (p
00000 ¢2=109.626) 000000000000 p0000m?00000000
00 (0000000000 1.6x10%m=3) 00000000 0p(ic)*0 MeV3 00O
00000000 (0000000000 0.16fm=3-(197MeV - fm)® = 1.2 x 10°MeV?)
0ooooooooon

0000000 MeV3OOOOOOOODOO0O0000000000000000
00 m3 00000000000000000000¢?00000 MeV-fmOOO
00000000000000000000000000

he=1
00
hc = 197MeV - fm
ooo
197MeV - fm =1
0000000000¢*000000 00000000

¢> = 109.626 = 109.626 x 197.327MeV - fm
= 21632.2MeV - fm

gugbobobouououbobooobbboobouboooobuobbooboo
00000000 MeVO fmO00O000O0OO0OODOODODOOODODODODO
gbobooboobooobboobobobooboobuobbobobLyobooo

2
Oy — hcd, , m — mc

000000L,, L, L,00000



gogodbobooodbbooboooboooon
0000000 POOOOOOO [PJCOOCCOOOE,LOODOOCOOOOOO
godgbbbodobo

vl = [

6] = [BL77]

9 = [B2L?]
O0D00Oy0 ¢gUO0D0OOO0ODOODOOODOODOOO

ot | el =12

dmeg r
ooooo

1
[927,] = [g¢] = [E]
000000000000 0000

26 U0UObOoooboooboon

gobobbbouoooobuobotoogobbobooobooboobboDo
oo0

L=ILx+Lo+Ly+L,+ L+ L,
oooodd
LN:&@PY/LaM_m)w
gododobesedoooongd
1 2 9.9
La—_i{(v¢0) +m0¢a}
O0000000wOd000000 ¢,0 wODODOOODODODODO (OOOD)OD0OO
1 2 2 2
Lw—g{(Vwa) +mw¢w}

0000000000000 ¢,0 p000000000O000O0C0O0OC0OO0O0O0O0
gobooaogn

1 2 22
Lp:i{(vgbp) +mp¢p}
0000000000000 A D0D0ODODOOOO (Doooo/e)gooO
1
Lv:§(VA0)2
O000000000000000o0o0oo0O0O0g (Coupling) O

- - _ 1=
= ~ o6t — 9B — g0Ta, 0 — e 0 Aot
ooooood

11



27 gooooooon

000000 DiracOOOOOOO
{—ia -V + 3 (m+ Vo) + W} = Ens.
gooov,ooboobooooooooooobbooobog
Vs = =9o%s-

VvOooooboobobooobooobobobooooobooboo

1—7'3
2

VV = gw¢w + gp7—3¢p +e AO'

DiracODOOOODOODODOOBOOOODODO

2.8 UO0O0OOOOOOOO

OO0b000000000000 screened Poisson OO0 O00O0O00OO0O0O0O0O
000000000000 properOPoisson000000000O00O0O0QO (source term)

gogobbboodoobobuoodbboooobboobodad

(A - mg) ¢U = —GopPs;
(A - mi) bw = —9wPv,
(A - mi) pr = —YpPs3,

12



30 Uuduodbdutn

3.1 Uoogoood

gboboboboobbobooboboobooobibobn

Z‘ ijntg (T)

— r (I)ljm (67 S07 ms)
¢wjmnt3 <T7 97 ©, Mg, mt) - ( . ij,;t?’ (r) (I)l/jm (9’ 0, ms) 6t3mt7

oo O
L= e
- ] 2’@,
1

! = j—=
J 2“;

1 .
(I)ljm (9>¢ams) = Z <l>m17 §7m2’jm>Yz,m1 (9790) 5msm2

miy,m2

1 )
= <l7m - m, §vms|]m>n,m—ms (9’ 90)

00000000<,m, L mj,m>00000000000000Y,,(#,9)000
00000000000000CO000000

3.2 UUOU0Uoooooooouobn

ooy, s 000D 0O00O0O0O0O0O00OOO0O0O00O0O00O00
00000004y0000000000w0 DiracOOOO0DOOOOOOOOOO
w = *£1.
00000000000 000000000000O00000000 GOoOoOoO O n
(000000000000 0D0O00000w=-1000000000 FOOUOO

U0 n00000w=100000F0O00000 n4+10000
gbobodbbuobgogbogobobboobobboboooooobooon

1
n:w<j+2>:iLiZi&~w

2

Il'=j—-iw (FOOODODODOD)

— 1
l=j+iw @DDDDDDD)}:QLz“_
2

13



3.3 UoOoon

O0000 DiracOOOODOOODOOODOODOOOODOODDODODO Schrodinger O O
gbobboogoboouoobbboooobobbo

031: 0000
jlw |||l v |O0O00CO0OO
Ll =101 S1
= 2
201 f[1]o] 1 P
s | -1 1]2[-2 ps
2010201 2 ds
5 —101213| -3 ds
2 2
211 (32| 3 fs
|13 4]—4 fz
201 ||4(3] 4 g1
9 —1]4]|5|-=5 gs
211 (5]4] 5 hy
n|-1]5]6]-6 hy
211165 6 in
| =167 =7 i1
1|76 7 jis

34 U0O0OOOOOOOOO

gboobogogooboooooobod

d G\ -, ute G
dr\ F ) \ pu—e, z F

p=m+V, e=E-Vy

gdd

oooo

0 O Olarge component  GOsmall component] FOOOOOOODOOOOOOO
K000 000000000000 OO0OOO Olarge componentd FOsmall component
0GO000000000000000000000000000000 000 9|00
1jooooooo

14



ooboooobogbbobbobobbbOskbO0 ebOO0OO0ODLOOOODRAO
00000000000 DbO0D00OkD0ODD whOOOODODODDDOOO
gbooon

3.5 Uuguogng

i0000000n;0:0000000000000000 (0<n;<2j;41)0000
goooboogbboboobobbob

o) = Y {IG P - IR0

42

() = g (G + IE () )

47rr?
po () = g i), (G0 P 4 IF () )

) = g En(57) {60 E - IR0 )

i

gob.gbobouboboboogbn

gbooodaoo

O0000p,00000000p,0000000 (DO0UDOODDODODODOUODODOO
0)d0ps00000000000000DO0O0O0DOO0OOp, 000000000

15



40 0ODUoddoooggn

4.1 0OO0O0OO

00000000 DiracO0O00O00O0O0O0OOOO Runge-Kuttall (0O DODO)
gobboboboobboooooboboboboooo rep0OOO0OOO0O00r —+0
gogooobbobobobooboo-obuoooobbboooodobdr - +oo O
obouogbgooobodg-bo0oobobuoboboooobobbbbob b
Ooooooooooboobob0 GorobobbOob0ooobbobOoooDboboDoD
b0 r0OOO0O0DODOO0OOOOO0OOOO0OOOO0ObOODbOOO0ObObObOoOD
oogooboooobo poOb00bb0obOoboooboboooooooobooobD

4.2 0O0O0OO
4.2.1 r—4+000000

r=00000000000000000004d

2 — 2
G — A ) (7,[+5)

2(20+3)
414k, 1+3+k ;
F — . . +2 +4
s T a@ieg E M +0 ()

ggd

{szE—VV(r:())
p=m+V(r=0)

gogoboboooob EeEDDODODDOOODD
ooooooboborboobobo0bl w=—-1000000000000O0

1 1

i1+ = j—|—2w—|—1+w(j+2>
= j+1+w(+1)
= (J+1)(w+1)

16



00000000000 0w=-10000143+k=(I+1+k)+2=2000 00
ogooboooboofrFO0bOOO0OO0O0DOO0ObLOODbOODbDODODDOO

000GO0O0000000000000000ooOOo0oO0ooDOsO(=0000
gboogboobboooooobuoobobbbon

000000000V, V,0-200000000000000 2000000000
000 GFO00000OO0O0OOOOOOOOOOOOOOO-?000000000
guoobdobbbobooodobbbbobbooooobbbobbboduodgaao
Oboopbobobo0b0oobobooobobbuobbOobOoobOobboOoogDbow,V
02000000000 GO FOOOOOOODOOOOOOOOO0OOO0O0OO00OO0OO
gboooboboooobbooboboogoo

4.2.2 r—+ooUU0OOO

r—+oolU00OUOOOOOOODOOOO

_ . —Vm?2-E?r
G e ,

F = _Hm— Ee_vmz_E2’".
m+ E

Oboooooooob eEooboboOon

4.3 UUOUOOOOOOOooonO

4.3.1 Matching condition

Gi(r),Fi(r0r—+0000000000000G,(r),F(r)0 r— +oo0 00
000000000000
000000000000 00000000 matching point r = r, 00 GO F OO
0000000000000 0GOFO000000000000000000000
0000 (000000000)000000000000000000000000
000

gogdg

good

ggbboooogno

17



4.3.2 O0O0OO0O0OOOOOOOOOOOO0

D#0000000D0 E,O FOOOODDOOOOOOOOOODODODOO DO
gboooodgobobooobooon

D' = Gl (Tm) G2 (rrm> {Gl (rm> F2 (Tm) - F1 (Tm) G2 (Tm)}

000000 pDO00O000O00D0O0O0O0O0O000O00 (DoDoooooD)o
00000 FOO0O0OODODODOOGOOOOONRO<r<r,0G(r)D0O00O0O0O

Oo00r,<r0Gy(r)D00000O0O0)ODO0OO0O0O0O0OOOOOOOONnODOO

opoooboboobod gpooboooobboboboobbb

n < nold U E < Ey

n > nold E > Fy
D'<000 FE<E,

n = nod O D'=000 FE=E,
D'>000 FE>E,

4.3.3 Matching point 1 [ [

Schrédinger 0000 000 O 00O Omatching point 0 E <potential energy (0 O
0000000000) 00000000000 000000000000000 00
O000000000000000DO000O0000000oO00oD0o0oDoOoood
OO0 FO0O0O0O0O0ODOO0ODO 41 000000000000000G,,G.00 r=r,,
O00000000000000000000000000O00O0000o0o0ooao
000 410000000000 0F >potential energy(0 00000000 O0O0O)
000000 matching point 0 00000000000 DOOODOOOOO

00000d0o0o0d0oo0ooooOobooooo0ooooO0ooDoboobooDbooDoDOoon
00000000000000000000 103000000000 0ooooooag
0000000000000 DO00D00oDOOobOOnOO

4.4 0OO0O0OO0OOOOOO

DiracODO OO 400 Runge-KuttaO O OO OO OPoisson 0 000 OOOOO0OOO
O000000000OO0O0O0O0O00O00O0000o0oODOoODOOo0DO0 (Doo)booo
O0b0o0obO0o0obboo0oobooooobboobobooooooooo

r, = h-7, 0<13<3000,
h = 0.01 fm .

OO00bOO0bO0ob00o0oboboboooogob 100kVOOOooooooooDOoDO
hAh=02mO000000000000DOO0O0O0OOOO0OD DiracOODODOOOO
Doboobobboobobooboboobobboobobboogd

18



0O 4.1: Matching point 000 (00000 OOOOO)

gogbooooguogooooboobobr=000b00bb0000bo0obogn
guboogbbdboboobbuoooboboobooooboob r —-+0000
goboobobbbobboobbodogoboboobbboooobboooooo
gddr—-+0000obbbobbbbbobbougoobobbbbobooob
goobobobobbbobbuobooobobboboobbbboobbooooo oo
00000000000 [7jooo0ooon

19



s Uouuodotd

Screened Poisson 0 O O

(A—m?)¢=—gp

gbogdbbouoobobobdooobbbobobon

(442 - o) = —an 0.

rdr

gogogbobboodgbuooobbon

efmr

o(r)=g /Orsinh(m'r’)p(r')'r”dr’—l—g

mr

sinh (mr

)/ e’m"/p('r’) r'dr’.
goooogdgodooopood m—000oogoogg

o) =2 [ty +g [~ p ) rar.

mr

p(r)0 p(=r)=p(r) 000 r<0000000000000000000000
00 »-=0000000000000000000000000000000000
000000000 r0000000000000000000000000000
00000000000000000000000000 [g)000000

O000p(r)0r - 000000 00000000000000000 0000
0000000 r=30fm000000000

00000000000000000000000000000000000000
00000000 p0

1
r= (1+exp%) X (1+exp%_R)

Lo

0o0ooooooobood R,eO00ogg
R =7.0fm, a =0.7fm

gooo
0s5100000000000b00s20000000000000000DODODOO
Doobooboooobobbobboboobos3gubon

20



V (MeV)

chérge denéity e

r(fm)

osl: 0000

500

Coulomb pote ntial
450

400
350
300
250

V (MeV)

200
150
100

50

r(fm)

052 0000000000 (0000O)
500

Coulomb poteﬁtial
450

400
350
300
250
200
150
100

50

0 10 20 30 40 50
r (fm)

053 0000000000 (@MOO0O)
21



el UUUOUOOOOOOMO

6.1 UU0O0Uoooooboodbooootod

oboboboooooooboboboooovowooooooooouoboboobo
gobbbooodgboodooada

1. vovy,0oooboooooooobob gobooboooooon
2. ;000000000000 000000000000 00bODbO0O0

3. 000000000000000000000000000000000000
V.0V, 0000

4. 0.00ooo vy, o0.0boogb voywoooooboo.ooboobog
goobooboboooboobooboooobooob

6.2 U0O0OOOOOOODOOOO

gbobobooooboobooooobobob b podoooooobooon
gogd

B o= B [ {000 () 0. () + 006 (r) () + 9,0, () s (1)

+edy () p, (7“)} 4rridr.

6.3 VvV, ,uuuogooon

OO000D0O0O000 Ap=0000

(A=m?)¢=—gp

ERERN

22



gogdg

po=0.16 (fm™), pp=0.167 (fm=)
gooogog
pv = pntpp=0.16,
Ps = pVXO'97
N -7
ps = pn—pPp=0.16 1
godoooooooooooad
2 2
9o g
W = Wﬂﬁmﬁ}pg,
w P
2
9o
‘/S(O) = _72ps>
gogoood
1/.,(0)
Vy(r) = v +V r
v 1+ exp (—r;R) cou (")
1.(0)
Vi(r) = =
+(r) 1 +exp —’:R>
ogoooooo
oo d
a = 0.7 fm,
ro = 1.2 fm,

gobodbbooobbboobobooooooogo

2 P\ 2
v I(T): zﬁ%{g_é(z%)} (r<R),
cou i?j (r>R),

googooboogo

23



070 OoO0doOdd

7.1 *®Pb
711 OO

0000000000000 ®»ppbO0000000D0OOO0ODOOOOODOOOOOO
00000000 0ooD710000000000000000 2210000000

0.09 | T

0.08 | .

0.07 = a

0.06

0.05

p (im™®)

0.04

0.03

0.02 _ .
neutron |G|2+|F|2 E—
0.01 - proton |G|+ |F |5 |
neutron |G|2—|F|2 —
0 proton |G|™-|F|~ —
0 2 4 6 8 10
r{fm)

O 7.1: 2¥pbO0O0O

goodbobboobobobdabogooboboboboobooooobooon
gbobbbodooooboobbobduboboboobbooobooobobon
gboodgoogboboad

016><N —016><126
’ A 7 208
= 0.097fm™3

24



goobooboobboooboobobooboonbd

7 82

16x = = 0.16 x —
0.16 x 1 0.16 x 503
= 0.063fm™3

gddbbooouuboboouooboboubbbooobobboogoun
gdd

0710000 Oneutron0 0000 15 mmO0000000O0OONOOproton 00
goooobboooobboobbbbobbboodoobobobooooob o
O000D000000O0SmO00O0 6mO0D0000O00O00DODOO0O9fmO0O0OO

goboobo ﬁDDDDDDDDDDDD

7.1.2 00000

07102%Phb00000000000000000O0OOODOOOO 22000
Serot 00 0)0000000D0O0OOOO0ODOO720000000000000000
gogd

gboogr200 100 720000000000 0x000000000O0OODO
00000000 O00ODo000 22]000000000000D00O00O00C0OOO
ooooo0oooopooOooooOOoOooDOoooO (Dooooo ,2,3,---00000
oo000)oooo

Serot 000000000 [22]0 Fig. 1300 UOODO0OUOOO0OOOO Figl3DOODO
gogbbogobobbbobobyobbbuobboboooobobooogao
gbboooobobobbbouooooobobbobouooobobbbodgao
ggo 0.2MeVDDDDDDDDDDDDDD%DDDDDDO.lMeVDDDDDDD
Fig.1300ooooooooooooooboobooobobobboobooon
gboooobooobogoo

0720000 Oneuton,protonJ0 00000000 0OO0O0O0O0O0O0OODOO0O
0o neutronDDDDDDDDDD(1p%)DDDDD dokeVO DO OOOODOODODO
guoboodoooobobobbbodobododoodooobobbobobbbooooan
googd

25



0 7.1: 000000 (Neutron)
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0 72: 000000 (Proton)

orbital | Serot(MeV) | This work(MeV) | difference(MeV)
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O 0OF 00000000

/*

Reletivistic mean-field model for spherical symmetric systems

2007/1/15 : rmf3a.c (completed and renamed)
2007/11/1,2,6,7 : rmf2c.c (self consistent field calculation)
2007/10/10-23,31: rmf2b.c (given Woods-Saxon form potential)

2007/9/3 : renamed from rmfl-z.c to rmf2a.c
2007/5/21 : interpolate density

2007/5/7 : both for protons and neutrons
2007/4/17 : proton density after sorting levels
2007/2/7 : sort E

2007/1/10 : proton density in main

2006/12/27 : prepareDp

2006/12/22 : Ebig,global Dp

2006/12/8,10-16 : created

*/

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

// Arrays to store the energies and wavefunctions of the eigenstates
#define NEUTRON O // idxt = O for neutrons
#define PROTON 1 // idxt for protons
#define SIGMA 0 // idxb for sigma meson
#define OMEGA 1  // idxb for omega meson
#define RHO 2 // idxb for rho meson
#define COULOMB 3 // idxb = 3 for photon
#define NBOSON 4 // 0 <= idxb < NBOSON
#define IDXT 2 // idxt (index t) = 0..IDXT
// idxt = NEUTRON (=0) : neutron
// idxt = PROTON (=1) : proton
#define IDXP 2 // idxp (index p) = 0..IDXP-1
// idxp = 0 : varpi=-1, L=J-1/2
// idxp = 1 : varpi= 1, L=J+1/2
#define IDXJ 8 // idxj(index j)=0..IDXJ-1
//J = idxj+1/2
#define NODE 5 // node=0..NODE-1
// node=0 for the gournd state
#define IDXR 3001 // idxr(index r)=0..IDXR-1

I
N~ O
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// "s" stands for "stored in memory"
double Es[IDXT] [IDXP] [IDXJ] [NODE]; // energy (MeV)
double Fs[IDXT] [IDXP] [IDXJ] [NODE] [IDXR];// large component of the radial wavefunction
double Gs[IDXT] [IDXP] [IDXJ] [NODE] [IDXR];// small component of the radial wavefunction
// r = idxr*dr : idxr = 0..IDXR-1

double Vs[IDXT] [2*IDXR-1]; // scalar potential (MeV) Vs[i] = Vs(r=dr*i/2)
double Vv[IDXT] [2*IDXR-1]; // vector potential (MeV) Vv[i] = Vv(r=dr*i/2)
double Dens[2*IDXT] [2*IDXR-1]; // Dens[0] [idxrd] : neutron |F|"2+|G|"2

// Dens[1] [idxrd] : proton |F|"2+|G|"2
// Dens[2] [idxrd] : neutron |F|~2-|G|"2
// Dens[3] [idxrd] : proton [F|"2-]G|"2
// r = idxrd*dr/2 : idxrd = 0..2*IDXR-2
double phi[NBOSON] [2*IDXR-1]; // classical boson fields
double source[NBOSON] [2*IDXR-1]; // source term of boson fields

// physical constants

const double HbC = 197.326960; // h-bar c¢ [MeV fm~2]

const double fineStructureConstant = 1.0/137.036000; // fine structure constant
const double Ebig = 9.99e+30;

// global variables

int idxtGlobal;

int NZ[IDXT]={126,82}; // the numbers of neutrons and protons (N and Z)

double Mass[IDXT] = {939.0, 939.0/%939.56533, 938.27200%/};

// neutron and proton mass [MeV/c"2]

double BosonMass[NBOSON] = {520.0, 783.0, 770.0, 0.0}; // boson mass [MeV/c"2]

double squaredCoupling[NBOSON] = {109.626, 190.431, 16.3065/%65.226%/, 0.0}; // [hbarxc]
// N.B.  16.3065=65.226/4

double Coupling[NBOSON]; // Coupling constant, to be defined in setParameters

double Rin; // (fm) The radius of connection to the Taylor series around r=0.
double Rout; // (fm) The radius of the connection to an asymptotic solution
for large r.

double Rmatch; // (fm) The radius where the forward and backward solutions meet.
double RadialGridSpacing; // (fm) Copy to a local variable "dr" and use "dr".

// paramters to construct the initial potential
double VsStr[IDXT] = {-373.0,-373.0}; // 398.5 ;
// (MeV) Strength of the scalar potential
double VvStr[IDXT] = {274.0,274.0}; // 340.0 ;
// (MeV) Strength of the vector potential
// Positive (negative) strengths mean repulsive (attractive) potentials.
double R_ws=7.0; // (fm) radius of the Woods-Saxon potential
double rO_ws=1.2; // (fm) R=r0_ws*xA~(1/3.0)
double a_ws=0.7; // (fm) surface thickness of the Woods-Saxon potential

struct RadialGridIndex {
int i ; // inside point, where outward solution starts
int m ; // matching point, where inward and outward solutions meet
int o ; // outside point, where the inward solution starts
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} Idxr; // NB) IDXR is macro, Idxr is structure, idxr is int

typedef struct{
double E ;
int idxp ;
int idxj ;
int idxn ;

} orbital;

orbital e[IDXT] [IDXP*IDXJ*NODE];

// prototype declarations of functions

int setParameters();

int writeParameters(FILE *FQ);

int progl(Q);

int prog2(int idxt, orbital *e, double *etot, int idxp, int idxj, int idxn);
int writeWavefunction(FILE #F0,int idxt, int idxp, int idxj, int idxn);

// int swap : defined before function sort, only by which it is called.

int sort(orbital *e);

int initialPotential(int sw);

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int *kappa);

int setRadialGrid(int sw);

double solveDirac(int idxp,int idxj,int idxn);

// retuned value = Energy eigenvalue (MeV)

// int rungeBCi : defined before function runge, only by which it is called.
// int rungeBCo : defined before function runge, only by which it is called.
int runge(int sw, double E, int idxp, int idxj, int idxn, int *node, double#*maco);
int Poisson(int imax,double h,double *source,double *phi);

int screenedPoisson(int imax,double h,double m,double sourcel[],double phil[]);
int interpolate(double *y, int n);

int main(){
setParameters();
writeParameters(stdout);
progl(Q;

}

int setParameters(){
int idxb;
for (idxb=0; idxb<NBOSON; idxb++) {
Coupling[idxb]=sqrt (squaredCoupling[idxb] *HbC) ;
}
Coupling [COULOMB]=sqrt (4*M_PI*HbC*fineStructureConstant);
}

int writeParameters(FILE *F0)
{ // writes the physical parameters of the model to a stream
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fprintf (FO, "neutron mass=%10.4f (MeV/c"2)\n",Mass [NEUTRON]) ;

fprintf (FO, "proton mass=%10.4f (MeV/c~2)\n",Mass[PROTON]) ;

fprintf (FO,"sigma meson mass=%10.4f (MeV/c"2) g~2=),10.4f (hbarx*c)\n"
,BosonMass [SIGMA] , squaredCoupling [SIGMA]) ;

fprintf (FO, "omega meson mass=%10.4f (MeV/c"2) g~2=Y10.4f (hbar*c)\n"
,BosonMass [OMEGA] , squaredCoupling [OMEGA]) ;

fprintf(FO,"rho meson mass=%410.4f (MeV/c"2) g~2=%10.4f (hbar*c)\n"
,BosonMass[RHO ],squaredCoupling[RHO 1);

fprintf (FO, "hbar*c=%12.6f (MeV*fm~2)\n",HbC) ;

fprintf (FO,"fine structure constant=1/%12.6f\n",1.0/fineStructureConstant);

fprintf (FO,"Coupling Constant : sigma=}.6e omega=}.6e rho=).6e coulomb=%.6e\n"

,Coupling [SIGMA],Coupling[OMEGA] ,Coupling[RHO],Coupling[COULOMB]) ;

// fprintf (FO,"vector pot=%10.3f scalar pot=%10.3f (MeV)\n",VvStr,VsStr);

// fprintf (FO,"Woods-Saxon parameters: R=%10.5f a=%10.5f\n",R_ws,a_ws);

int progl(O{
/*
Calculation of levels and densities fulfilling selfconsistency condition

*/

int idxt,i,idxp,idxj,idxn,idxr,idxrd,degeneracy,num,iter;

int imax=IDXP*IDXJ*NODE;

double E,sumspe[IDXT],eboson,etot; // Energy [MeV], sum of single-particle energy
double r,dr,drb; // radial coordinate (fm) and its grid spacing (drb=drb/2)

int iprint;

double diffVs[IDXT],diffVv[IDXT]; // maximum (for r) of the discrepancy in potentials
double diff,diff?2;

double *Fsptr, *Gsptr;

FILE *FFD, *FBD, *FPQ, *FWF;

FFD=fopen("fdens.dat","w"); // Fermion (=nucleon) densities
FBD=fopen("bdens.dat","w"); // Boson densities
FPO=fopen("pot.dat","w"); // Potential energies
FWF=fopen("wf.dat","w"); // Nucleon wavefunctions

printf("# N=%d Z=%d\n",NZ[NEUTRON] ,NZ[PROTON]) ;
setRadialGrid(1);
initialPotential(1);

dr=RadialGridSpacing;

drb=dr/2;

fprintf (FPO,"# iter %d (initial potential)\n",0);

iprint=0.1/drb; if(iprint<1) iprint=1;

for(i=0;i<2*IDXR-1;i++){

if(i<=30||i % iprint == 0){

fprintf (FPO,"%9.5f %.7e %.7e %.7Te %.Te %.7e %.7e %.7e %.7e\n",ixdrb
, Vs [NEUTRON] [i], Vv [NEUTRON] [i],Vs [PROTON] [i], Vv [PROTON] [i]
,0.0, 0.0, 0.0, 0.0);
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}
}
fprintf (FPO,"\n");

for(iter=1;iter<=1000;iter++){ // loop for selfconsistency : begin

for(idxt=0;idxt<IDXT;idxt++) prog2(idxt,el[idxt],&sumspe[idxt],idxp,idxj,idxn);
printf("iter=Y%d prog2 finished. E=le %e\n",iter,sumspe [NEUTRON],sumspe [PROTON]) ;

printf("# J=idxj+0.5, L=idxj+idxp, varpi=2+*idxp-1, kappa=varpi*(J+0.5)\n");
for(idxt=0;idxt<IDXT;idxt++){

num=0;

for(i=0;i<imax;i++){

if (e[idxt] [i].E < Ebig){
degeneracy=2%e[idxt] [i] .idxj+2; num+=degeneracy;
printf (" #1#%3d idx(t,p,j,n)=%d %d %d %d E=%9.4f m= %+10.5f dgn=%3d sum=%3d\n"
,i,idxt,el[idxt] [i].idxp,e[idxt] [i].idxj,e[idxt] [i].idxn
,elidxt] [i] .E,e[idxt] [i] .E-Mass[idxt] ,degeneracy,num) ;

if (004
fprintf (FWF,"# %d %d %d %d %d\n"

,idxt,i,e[idxt] [1].idxp,e[idxt] [i].idxj,e[idxt] [i].idxn);
Fsptr=Fs[idxt] [e[idxt] [i].idxp] [e[idxt] [i].idxj] [e[idxt] [i].idxn];
Gsptr=Gs[idxt] [e[idxt] [1].idxp] [e[idxt] [i].idxj] [e[idxt] [i].idxn];
for (idxr=0;idxr<IDXR;idxr++){

fprintf (FWF,"%9.5f %.5e %.5e\n",idxr*dr,Fsptr[idxr],Gsptr[idxr]);
}
fprintf (FWF,"\n");

}Y//>if (e)
}//>for(i)
}//>for(idxt)

if (0){
for (idxrd=0;idxrd<2*IDXR-1;idxrd++){
r=idxrdx*drb;
fprintf (FFD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,Dens[0] [idxrd], Dens[1] [idxrd], Dens[2] [idxrd], Dens[3] [idxrd]);
}
fprintf (FFD, "\n");
+

// boson field

for(i=0;i<2*IDXR-1;i++){
source[SIGMA] [i] = (Dens[2] [i]+Dens[3] [i])*Coupling [SIGMA];
source [OMEGA] [i] = (Dens[0] [i]+Dens[1] [i])*Coupling [OMEGA] ;
source [RHO] [i] = (Dens[0] [i]-Dens[1] [i])*Coupling[RHO];
source [COULOMB] [i] = Dens[1] [i]*Coupling [COULOMB] ;
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screenedPoisson(2+*IDXR-1,drb,BosonMass [SIGMA] /HbC, source [SIGMA] ,phi [SIGMA]) ;
screenedPoisson(2*IDXR-1,drb,BosonMass [OMEGA] /HbC, source [OMEGA] ,phi [OMEGA]) ;
screenedPoisson(2*IDXR-1,drb,BosonMass [RHO] /HbC, source [RHO] ,phi [RHO]) ;
Poisson(2*IDXR-1,drb,source [COULOMB] ,phi [COULOMB]) ;

if (0){
for(i=0;i<2+IDXR-1;i++){
r=i*drb;
fprintf (FBD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,phi [SIGMA] [i],phi [OMEGA] [i],phi [RHO] [i],phi [COULOMB] [i]) ;
}
fprintf (FBD,"\n") ;
}

// total energy

eboson=0;
for(i=1;i<2+IDXR-1;i++){
eboson+=i*i*(
-phi[SIGMA ] [il*source[SIGMA ][i]
+phi [OMEGA ] [i]*source[OMEGA ][i]
+phi [RHO 1 [i]*source [RHO 1[4]
+phi [COULOMB] [i] *source [COULOMB] [i]
)3
}
eboson*=4*M_PIxdrb*drb*drb;
etot=sumspe [NEUTRON] +sumspe [PROTON] -eboson/2;
printf ("# total energy(MeV)=Y.6f (%.6f %.6f %.6f)\n"
,etot,sumspe [NEUTRON] , sumspe [PROTON] , eboson) ;

// new potential for the next iteration

for(idxt=0;idxt<IDXT;idxt++){diffVs[idxt]=0; diffVv[idxt]=0;}
fprintf (FPO,"# iter %d\n",iter);
for(i=0;i<2*IDXR-1;i++){
double Vsigma, Vomega, Vrho, Vcoul, Vsnew[IDXT], Vvnew[IDXT];
const double p=0.5; // damping factor

Vsigma=-Coupling [SIGMA] *phi[SIGMA] [i] ;
Vomega= Coupling[OMEGA] #phi[OMEGA][i] ;
Vrho = Coupling[RHO] *phi [RHO] [i] ;
Vcoul = Coupling[COULOMB]#*phi [COULOMB] [i];
Vsnew [NEUTRON] =Vsigma;
Vsnew [PROTON ]=Vsigma;
Vvnew [NEUTRON] =Vomega+Vrho;
Vvnew [PROTON ]=Vomega-Vrho+Vcoul;
if(i<=30||i % iprint == 0){
fprintf (FPO,"%9.5f %.7e %.7e %.7e %.Te %.7e %.7e %.7e %.7e\n",ixdrb
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, Vsnew [NEUTRON] , Vvnew [NEUTRON] , Vsnew [PROTON] , Vvnew [PROTON]
,Vsigma,Vomega,Vrho,Vcoul) ;

}

for(idxt=0;idxt<IDXT;idxt++){
diff=fabs(Vsnew[idxt]-Vs[idxt] [i]); if(diffVs[idxt]<diff) diffVs[idxt]=diff;
diff=fabs(Vvnew[idxt]-Vv[idxt] [i]); if (diffVv[idxt]<diff) diffVv[idxt]=diff;
Vs [idxt] [i]=(1-p)*Vs[idxt] [i]+p*Vsnew [idxt];
Vv [idxt] [i]1=(1-p)*Vv [idxt] [i] +p*Vvnew [idxt] ;

}
}
diff = diffVs[NEUTRON] ;
diff2 = diffVs[PROTON] ; if ( diff2 > diff ) diff = diff2 ;
diff2 = diffVv[NEUTRON] ; if ( diff2 > diff ) diff = diff2 ;
diff2 = diffVv[PROTON] ; if ( diff2 > diff ) diff = diff2 ;

printf ("# max (for r) potential incomnsistency(Vs(n),Vv(n),Vs(p),Vv(p),all) (MeV)");
printf ("%e %e %e e %e :PD\n"

,diffVs [NEUTRON] ,diffVv [NEUTRON] ,diffVs [PROTON] ,diffVv [PROTON] ,diff);
fprintf (FPO,"\n");

if (diff<1.0e-8) {
printf ("# selfconsistency fulfilled: iter %d, potential difference<je\n",
iter,diff);
break;

}

} // for(iter): loop for selfconsistency : end

for(i=0;i<2*IDXR-1;i++){
r=i*drb;
fprintf (FFD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,Dens[0] [i], Dens[1][i], Dens[2] [i], Dens[3][i]);
fprintf (FBD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,phi [SIGMA] [i],phi [OMEGA] [i],phi [RHO] [i],phi [COULOMB] [i]);
}
fprintf (FFD,"\n");
fprintf (FBD,"\n");

fclose(FFD); fclose(FBD); fclose(FP0); fclose(FWF);

return O;

int prog2(int idxt, orbital *e, double *etot, int idxp, int idxj, int idxn){
int i,n,imax,fn,idxr,idxrd;
double r, dr, E, *Fsptr, *Gsptr;

idxtGlobal=idxt;
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// energy sweep (for a test of this code)
if (0){
int mxi=200, node ; double maco;
for(i=0;i<mxi;i++){
E=Mass[idxt] -mxi+i;
runge (0,E,idxp,idxj,idxn,&node,&maco) ;
}
+

// calculation of the energies and wavefunctions of the eigenstates
// for all the combinations of the quantum numbers

i=0;

imax=IDXP*IDXJ*NODE-1;

for(idxn=0;idxn<NODE; idxn++){
for(idxj=0;idxj<IDXJ;idxj++){
for (idxp=0; idxp<IDXP;idxp++){
E=solveDirac(idxp, idxj, idxn);
e[i] .E=E;
e[i] .idxp=idxp;
e[i] .idxj=1idxj;
e[i] .idxn=idxn;
i++;
} //>for(idxp)
} //>for(idxj)
} //>for(idxn)

// sorting the eigenstates in the asceding order of energy
sort(e);

// calculation of the densities
double f6 4.0/3.0;

double f7 = -1.0/3.0;
dr=RadialGridSpacing/2;
fn=NZ[idxt];

for (idxrd=0;idxrd<2*IDXR-1;idxrd++){
Dens[idxt] [1idxrd]=0.0;
Dens [idxt+IDXT] [idxrd]=0.0;

}

xetot=0; // sum of single-particle energies
for(i=0;i<imax;i++){

n=2x%e[i] .idxj+2;

if (fn<n){

n=fn;

X

*etot+=n*xe[i] .E;

Fsptr=Fs([idxt] [e[i].idxp] [e[i].idxj] [e[i].idxn];
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Gsptr=Gs[idxt] [e[i] .idxp] [e[i] .idxj] [e[i] .idxn];
for (idxr=1;idxr<IDXR;idxr++){ // debug "<=" --> "<
double Ft,Gt;
idxrd=2*xidxr;
r=idxrdx*dr;
Ft=Fsptr[idxr];
Gt=Gsptr [idxr];
Dens [idxt ] [idxrd] +=(Ft*Ft+Gt*Gt) *n/ (4.0*M_PI*r*r) ;
Dens [1dxt+IDXT] [idxrd]+=(Ft*Ft-Gt*Gt)*n/ (4.0*M_PI*r*r) ;

Dens[idxt] [0]=f6%*Dens [idxt] [2]+f7*Dens [idxt] [4];
Dens [1dxt+IDXT] [0]=f6*Dens [1idxt+IDXT] [2]+f7*Dens [1idxt+IDXT] [4];

fn-=n;

if (fn<=0) break;
}//>for (i)
*etot-=NZ[idxt] *Mass [idxt];

if (fn>0){ // changed from "if (fn<0)" on 07/9/3
fprintf(stderr,"error in the calculating density: insufficient number of levels\n");
exit(1);

}

interpolate(Dens[idxt] ,2*IDXR-1);
interpolate (Dens [idxt+IDXT] ,2*IDXR-1) ;

fprintf (stderr,")f %f %f %f #3#\n",Dens[0] [0],Dens[1] [0],Dens[2] [0],Dens[3][0]);

//return O;
}

int writeWavefunction(FILE *F0, int idxt, int idxp, int idxj, int idxn)
{ // writes the wavefunction to a stream

int i;

double r1, F, G, *Fsptr, *Gsptr;

Fsptr=Fs[idxt] [idxp] [idxj] [idxn]; Gsptr=Gs[idxt] [idxp] [idxj] [idxn];
F=0;G=0;
for(i=0;i<IDXR;i++){

if (F<fabs(Fsptr[il))F=fabs(Fsptr[il);

if (G<fabs(Gsptr[i]))G=fabs(Gsptr[il);
}
fprintf (FO,"# (idxp,idxj,idxn)=(%d %d %d) E=%16.8f\n"
,idxp,idxj,idxn,Es[idxt] [idxp] [idxj] [idxn]);
fprintf (FO,"# r(fm) F/%12e G/%12e Vve Vsc\n",F,G);
F=1.0/F; G=1.0/G;
for(i=0;i<IDXR;i++){

r1=RadialGridSpacing*i;
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fprintf (FO,"%8.4f %16.8e %16.8e %16.8e 716.8e\n"
,r1,Fsptr [i]#F,Gsptr [1]*G, Vv [idxt] [2*i],Vs[idxt] [2*i]);

int swap(orbital *e, int i, int j){ // called only by function "sort"
orbital tmp;

tmp = elil;
el[i] = el[jl;
e[j]l = tmp;
}
Y e e e

int sort(orbital *e){
int idxt, i, j, imax=IDXP*IDXJ*NODE-1;

for(i=0;i<imax;i++){
for (j=i+1;j<=imax;j++){
if(e[i].E>e[j]1.E){
swap(e, i, j);

}

int initialPotential(int sw) {
// 0th compoment of vector potential (MeV) and scalar potential (MeV)
int i,idxt;
double r,dr;
double A,R,rhov,rhos,rho3,t1,t2,VvO[IDXT],VsO[IDXT],VcO; // local variable
// external variables
// rO_ws,a_ws,NZ[]

A=NZ [NEUTRON] +NZ [PROTON] ;
R=r0_ws*pow(A,1/3.0);
rhov=0.16;
rhos=rhov;
rho3=rhov* (NZ [NEUTRON] -NZ [PROTON] ) /A;
t1=pow(Coupling [OMEGA] *HbC/BosonMass [OMEGA] ,2) *rhov;
t2=pow (Coupling[RHO]*HbC/BosonMass [RHO] ,2) *rho3;
VvO [NEUTRON] =t1+t2;
VvO [PROTON ]=t1-t2;
VsO0 [NEUTRON] =-pow (Coupling [SIGMA] *HbC/BosonMass [SIGMA] ,2) *rhos;
VsO[PROTON ]=VsO[NEUTRON];
Vc0=NZ [PROTON] *fineStructureConstant*HbC;
dr=RadialGridSpacing/2;
for(idxt=0;idxt<IDXT;idxt++){

for (i=0;i<2*IDXR-1;i++){
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r=ix*dr;
Vv [idxt] [1]1=VvO[idxt]/((1.0+exp((r-R)/a_ws))*(1.0+exp((-r-R)/a_ws)));
Vs [idxt] [i]=VsO[idxt]/((1.0+exp((r-R)/a_ws))*(1.0+exp((-r-R)/a_ws)));
if (idxt == PROTON){
if (r<=R){
Vv [idxt] [1]+=0.5%Vc0/R* (3-pow(r/R,2));

}
else {
Vv [idxt] [i]1+=VcO/r;
}
}
}
if (sw>0){
fprintf (stderr,"vector potential: t,strength,R,a=d %f %f %f\n"
,idxt,VvStr[idxt] ,R_ws,a_ws);
fprintf (stderr,"scalar potential: t,strength,R,a=d %f %f %f\n"
,idxt,VsStr[idxt] ,R_ws,a_ws);
}
}
return O;
}
A

// A set of functions to solve the Dirac eigenvalue equation with spherically symmetric
// vector and scalar potentials which are regular at radius zero.
//  * idx2qn

//  * setRadialGrid

//  * solveDirac

//  * rungeBCi

//  * rungeBCo

//  * (rungeFunl and rungeFun2 :commented out)

//  * runge

/)

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int *kappa){
// converts the indices into quantum numbers
*J=idxj+0.5; // J = angular momentum
if (idxp == 0){*w=-1;} else {*w=1;} // w = quantum number "varpi"
*L=idxj+(1+ *w)/2; // L=J+varpi/2 : orbital angular momentum
xkappa=+*w *(idxj+1); // kappa = varpi*(J+1/2)
if(sw > 0){
fprintf (stderr,"quantum numbers: J=Y3d/2 varpi=id L=%d kappa=/d\n"
, (Ant) (2% (*J)) , *w,*L, *kappa) ;
return O;
}
}

int setRadialGrid(int sw)
{ // sets up the parameters of the radial grid to express the radial wavefunctions
double dr;
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Idxr.i=10; // For radial grid number <= Idxr.i, rungeBCi is used.
Idxr.o0=2500; // For radial grid number >= Idxr.o, rungeBCo is used.
Rout=25.0; // (fm) corresponding to Idxr.o

if(1 > Idxr.i || Idxr.i > Idxr.o || Idxr.o >= IDXR || Rout <= 0.0){
fprintf (stderr,"setRadialGrid: error: Idxr.i,Idxr.o,IDXR,Rout %d %d %d %f\n"
,Idxr.i,Idxr.o,IDXR,Rout);
exit(1);

}

dr=Rout/Idxr.o; RadialGridSpacing=dr;
Rin=Idxr.i*dr;

Idxr .m=(R_ws+3*a_ws)/dr+0.5;
if(Idxr.m < Idxr.i) Idxr.m = Idxr.i;
if (Idxr.m > Idxr.o) Idxr.m Idxr.o;
Rmatch=Idxr.mx*dr;

if (sw>0){
printf (" R(in,match,out)=%9.5f %9.5f %9.4f (fm)\n",Rin,Rmatch,Rout);
printf ("idxr(in,match,out)=%9d %9d %9d dr=%15.10f (fm)\n",Idxr.i,Idxr.m,Idxr.o,dr);
+
}

double solveDirac(int idxp,int idxj,int idxn)

{ // calculates the energy and the wavefunction of the eigenstate
int i,idxt,node;
double maco,macol,maco2; // matching condition is "maco=0"
double E,E1,E2,dE, Eprec=1.0e-14; // energy (MeV)
idxt = idxtGlobal;

runge (0,Mass [idxt]-0.001,idxp, idxj,idxn,&node,&maco) ;

// printf("solveDirac: runge done.\n"); // #1#

if(node < idxn || node == idxn && maco < 0){
fprintf (stderr,"no bound states: For E=Mass, node=%d maco=Je\n",node,maco);
E=Ebig;
goto fin;

}

El1=Mass[idxt]-30.0; dE=10.0;
for(; ;)4
runge (0,E1,idxp,idxj,idxn,&node,&maco) ;

// printf("solveDirac: runge done in for(;;). E1=)f dE=)f node=%d maco=%f\n"
// ,E1,dE,node,maco); // #2#

if(node < idxn || node == idxn && maco < 0) break;
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E1=E1-dE; dE*=1.25;
b

fprintf (stderr,"lower bound (E,node,maco)=(%f %d %e)\n",El,node,maco);

E2=E1%0.8+Mass[idxt]*0.2;

for(;;){
runge (0,E2,idxp,idxj,idxn,&node,&maco) ;
if(node > idxn || node == idxn && maco > 0) break;

E2=E2*0.8+Mass [idxt]*0.2;
if (Mass[idxt]-E2 < 0.001) { // Actually,this condition was alread checked.
fprintf (stderr,"no bound states(2): For E=Mass, node=)d maco=Je\n",node,maco);
E=Ebig;
goto fin;
}
}
fprintf (stderr, "upper bound (E,node,maco)=(%f %d %e)\n",E2,node,maco) ;

// bisection method

for(i=0;i<60;i++){
if (E2-E1<=Mass[idxt]*Eprec) break;
E=(E1+E2)*0.5;
runge(0,E,idxp,idxj,idxn,&node,&maco) ;
// fprintf(stderr,"%12f %5d %15.12f %12f %12f\n",E,node,maco,E1,E2);
if(node < idxn || node == idxn && maco < 0){E1=E;} else {E2=E;}
}
E=(E1+E2)*0.5;
runge(1,E,idxp,idxj,idxn,&node,&maco) ;

Es[idxt] [idxp] [idxj] [idxn]=E;
fprintf (stderr,"iter=Yd E=%f\n",i,Es[idxt] [idxp] [idxj] [idxn]);

fin:
Es[idxt] [idxp] [idxj] [idxn]=E;

return E;

}

int rungeBCi(double r, double E, int idxp, int L, double *F, double *G){
// Boundary Condition for r -> 0

double vv,vs,epsilon,mu,rL,rL1,rL2,rL3;

int idxt;

idxt=idxtGlobal; // A global variable is copied to a local variable.

if(r <= 0.0){
*F=0; *G=0;
if(r == 0) return 0; else return 1;

}
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vv=Vv[idxt] [0]; vs=Vs[idxt] [0];
epsilon=(E-vv)/HbC;
mu=(Mass [idxt]+vs) /HbC;
{//input : int L, double r, output : double rL=pow(r,L)
int pt=L; double xt=r, rt=1.0;
while(pt != 0){if(pt & 1) rt*=xt; xt*=xt; pt>>=1;} rl=rt;
}
rLi=rLxr; rL2=rLil*r; rL3=rL2*r;
*xF=rL1-(epsilon*epsilon-mu*mu)/(4*xL+6)*rL3;
if(idxp == 0){ // varpi=-1, L=J-1/2=0,1,2,...
*G=-(epsilon-mu)/ (2*L+3) *rL2;
}
else { // varpi=1, L=J+1/2=1,2,3,...
*G=(2*L+1) / (epsilon+mu) *rL-(epsilon-mu) / (2*L+3) *rL2;
}

return O;

int rungeBCo(double r, double E, double *F, double *G){
// Boundary Condition for r -> infinity
double Massli;
Massi=Mass[idxtGloball;
*xF=exp (-r*sqrt (Mass1*Mass1-E*E) /HbC) ;
*G=-sqrt ((Mass1-E)/(Mass1+E))*exp (-r*sqrt (Mass1*Mass1-E*E) /HbC) ;
return O;

#define RUNGE_OPTION 3

#if RUNGE_OPTION ==
// - === === === - - - - function version - - - - - - - - - - - - - -
inline double rungeFunl(double rinv,double F,double G,double E,int kappa,double V){
return (E-V+Mass[idxtGlobal])*G*(1.0/HbC)-kappa*F*rinv;
}
inline double rungeFun2(double rinv,double F,double G,double E,int kappa,double V){
return -(E-V-Mass[idxtGlobal])*F*(1.0/HbC)+kappa*G*rinv;
}
#elif RUNGE_OPTION ==
/] = === === = = = - - - - - macro version - - - - - - - - - - - - - - -
#define rungeFunl(rinv, F, G, E, kappa, W)\
((-(kappa) ) *(rinv) *(F)+(1.0/HbC) * ((E) - (V) +Mass [idxtGlobal] ) *(G))
#define rungeFun2(rinv, F, G, E, kappa, W\
((1.0/HbC)* (- ((E)-(V)-Mass[idxtGlobal])) *(F)+(kappa) * (rinv) *(G))
#elif RUNGE_QOPTION ==

/- - --=-=-=-=-=-=-=-- - - - inline version - - - - - - - - - - - - - - -
// Inline version uses neither functions nor macros.
#tendif
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int runge(int sw, double E, int idxp, int idxj, int idxn, int *node, double*maco){
// Runge-Kutta method for radial wave fn.

// sw & 0x01 > 0 --> the wavefunciton iwws stored in the global arrays

// sw & 0x02 > 0 --> fprintf(stderr) some information

/*

used global variables

Fs, Gs, Mass, idxtGlobal, RadialGridSpacing
used functions

rungeBCi, rungeBCo, idx2qn

*/

int i,is,ii,i2,i3;

int w,L,kappa;

int forbac; // O for forward solution, 1 for backward solution
int idxt;

double *Fsa,*Gsa;

double ril,rlinv;

double k1,11,k2,12,k3,13,k4,14,k,1;

double F,F2,F3,F4,0l1dF, G,G2,G3,G4;

double dr, pmdr, halfpmdr; // pmdr = plus or minus dr
double J, vv, vs;

double Fm[2], Gm[2];

double c1,c2,c3,c4,c5,c6,c7;

idxt=idxtGlobal;
Fsa=Fs[idxt] [idxp] [idxj] [idxn];
Gsa=Gs [idxt] [idxp] [idxj] [idxn];
idx2qn(0,idxp,idxj, &J,&w,&L,&kappa) ;

dr=RadialGridSpacing;

if(sw & 0x01){
for(i=0;i<=Idxr.i;i++){

ril=ix*dr;
rungeBCi(rl,E,idxp,L,&Fsali] ,&Gsalil);
}
for(i=IDXR-1;i>=Idxr.o;i—-){
ri1=ix*dr;
rungeBCo(rl,E,&Fsali],&Gsalil);
}
}
*node=0;

for(forbac=0; forbac<2; forbac++){
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if (forbac == 0){

rungeBCi (Idxr.i*dr,E,idxp,L,&F,&G);
pmdr=dr; is=Idxr.i; ii=1;

}
else {
rungeBCo (Idxr.o*dr,E,&F,&G) ;
pmdr=-dr; is=Idxr.o; ii=-1;
}

cl=pmdrxkappa;
c2=pmdr*(1.0/HbC) ;
c3=E+Mass[idxt];
c4=E-Mass[idxt];
halfpmdr=pmdr*0.5;

ri=is*dr; rlinv=1.0/r1; cb=cl*rilinv;
i2=is*2; vs=Vs[idxt] [i2]; vv=Vv[idxt][i2];
for(i=is+ii ; ; i+=ii){

i2=1%2;
RUNGE_OPTION == 1 ) || ( RUNGE_OPTION == 2 )

————————————————————— function and macro versions

kil=rungeFunl(rlinv,F,G,E, kappa,vv-vs)*pmdr;
li=rungeFun2(rlinv,F,G,E,, kappa,vv+vs)*pndr;
ril=ri+halfpmdr; rlinv=1.0/r1;

i3=12-ii; vs=Vs[idxt][i3]; vv=Vv[idxt] [i3];

F2=F+0.5%k1l; G2=G+0.5%11;

k2=rungeFunl(rlinv,F2,G2,E,,kappa,vv-vs)*pmdr;
12=rungeFun2(rlinv,F2,G2,E, kappa, vv+vs) *pmdr;

F3=F+0.5%k2; G3=G+0.5%12;

k3=rungeFunl(rlinv,F3,G3,E,,kappa,vv-vs) *pmdr;
13=rungeFun2(rlinv,F3,G3,E, kappa, vv+vs) *pmdr;

ri=dr*i; rlinv=1.0/r1;
vs=Vs [idxt] [i2]; vv=Vv[idxt] [i2];
F4=F+k3; G4=G+13;

k4=rungeFunl(rlinv,F4,G4,E,, kappa,vv-vs)*pndr;
l4=rungeFun2(rlinv,F4,G4,E, kappa, vv+vs) *pmdr;

RUNGE_OPTION ==
——————————————————————————— inline version
k1=c2* (c3-vv+vs) *G-c5*F;
11=c5*G-c2* (c4-vv-vs) *F;
ri=ri+halfpmdr; cb=cl/ril;

i3=i2-1ii; vs=Vs[idxt] [i3]; vv=Vv[idxt] [i3];

F2=F+0.5%k1l; G2=G+0.5%11;
c6=c2*(c3-vv+vs) ;
cT7=-c2*(cd-vv-vs);
k2=c6*G2-c5*F2;
12=c5*xG2+c7*F2;
F3=F+0.5%k2; G3=G+0.5%12;
k3=c6*G3-c5*F3;
13=c5*G3+c7*F3;
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ri=dr*i; cb=cl/ril;
vs=Vs[idxt] [i2]; vv=Vv[idxt] [i2];
F4=F+k3; G4=G+13;
k4=c2* (c3-vv+vs) *G4-c5*F4;
14=c5*G4-c2* (c4-vv-vs) *F4;
#endif
k=(k1+2*k2+2*k3+k4)*(1.0/6.0) ;
1=(11+2%12+2%13+14)*(1.0/6.0) ;
oldF=F;
F=F+k;
G=G+1;
if (F*01dF<0) (*node)++;
if(sw & 0x01){
Fsal[i]=F;
Gsal[il=G;
}
if (i==Idxr.m) break;
}
Fm[forbac]=F; Gm[forbac]=G;

} // end of for(forbac)
*maco=Fm[0] *Fm[1]* (Fm[0] *Gm [1] -Gm [0] *Fm[1]) ;
//fprintf (stderr,"%12f %5d %15e E,node,maco\n",E,*node,*maco);

F e normalization of the wavefunction : begin ---------------—-
if(sw & 0x01)
{ double s,s1,s2,t1,t2,mf,nfl,nf2;

s1=0.0;
for(i=0;i<Idxr.m;i++){
ti1=Fsali];
t2=Gsal[i];
sl+=t1xt1+t2*t2;
}
s2=0.0;
for(i=Idxr.m;i<IDXR;i++){
t1=Fsali];
t2=Gsalil;
s2+=t1*t1+t2*t2;
}
mf=Fm[0]/Fm[1]; // It is preferable to choose between Fin/Fout and Gin/Gout
// the one which suffers from less numeircal error.
s=dr* (s1+s2*mf*mf) ;
nf1=1/sqrt(s); // sign of the tail for r-> infinity agrees with rungeBCo
if (mf<0.0) nfil*x=-1;
nf2=nf1*mf;
for(i=0;i<Idxr.m;i++){
Fsa[i]*=nf1;
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Gsal[il*=nf1;
}
for(i=Idxr.m;i<IDXR;i++){
Fsa[i]*=nf2;
Gsal[i] *=nf2;

/) normalization of the wavefunction : end ~—————--——--————-

return O;

// block 2 : begin
// This is an independently available part.

//

// proper/screened Poisson equation solver

// No global variables are referred.

// ===
A Poisson equation solver —-—-—-——-———————————————————

int Poisson(int imax,double h,double *source,double *phi){
double r0,r1;
double I1,I2;
double rhol;
int i,j,k,1,al;
double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,
802.0/1440.0, -93.0/1440.0, 11.0/1440.0};

//r=0
12=0;
for(j=0;j<imax-1;j++){
for (k=0;k<6;k++){
1=j+k-2;
r1=1%*h;
al=abs(1l);
if (al<imax) rhol=sourcelal];
else rhol=0;
I2+=intcoef [k] *rhol*rl;
}
}
phi [0]=h*12;

//xr<0
for(i=1;i<imax;i++){
rO=ix*h;
I11=0;
for(j=0;j<i;j++){
for (k=0;k<6;k++){
1=j+k-2;
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ri1=1%*h;

al=abs(1l);
if (al<imax) rhol=sourcelal];
else rhol=0;
I1+=intcoef [k]*rhol*ri*r1/r0;
}
}
I12=0;

for (k=0;k<6;k++){
for(j=ij;j<imax-1;j++){
1=j+k-2;
ri1=1%*h;
al=abs(1l);
if (al<imax) rhol=sourcelal];
else rhol=0;
I2+=intcoef [k] *rholx*ril;
}
}
phi [i]=h*(I1+I2);
+
return O;

}

/)= screened Poisson equation solver ——-—-—-———-——————————————————
int screenedPoisson(int imax, double h, double m, double *source, double *phi){

double D; // the value of Green’s function

double 10,rl; // variables r and r’ of Green’s function

double s,s1,s2,expl,exp2,sourcel;

int i,j,k,1,n,al,nexp;

double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,

802.0/1440.0, -93.0/1440.0, 11.0/1440.0};

#define NEXP 100000

double expmmr [NEXP];

int expsft = 3;

nexp=NEXP;
expl=exp(-m#*h) ;
for (k=0;k<NEXP;k++){
if(k % 20 == 0) expmmr [k]=exp(-m*h*(k-expsft));
else expmmr [k]=expmmr [k-1]*expl;
if (expmmr [k]<1.0e-32) {
nexp=k+1;
break;
}
}
if (expmmr [nexp-1]>1.0e-16) {
fprintf(stderr,"screenedPoisson: warning: You have to increase NEXP\n");
fprintf (stderr, "expmmr [%d]=Ye\n" ,NEXP, expmmr [NEXP-1]) ;
}
#undef NEXP
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// calculation of phi(r) at r=0
s2=0;
for(j=0;j<imax-1;j++){ // integral over [0, (imax-1)=*h]
for (k=0;k<6;k++){
1=j+k-2;
ri=1%h;
n=1l+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
al=abs(l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
s2+=intcoef [k] *sourcel*ri*expl;
}
}
phi[0]=hx*s2;

// fprintf (stderr,"phi[0]=%.7f\n",phi[0]);

// calculation of phi(r) for r>0
for(i=1;i<imax;i++){
r0=ix*h;
s1=0;
for(j=0;j<i;j++){ // integral over [j*h,(j+1)*h], (j+1)*h<=r0
for (k=0;k<6;k++){
1=j+k-2;
ri1=1%h;
n=i-l+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
n=i+l+expsft; if (n<nexp) exp2=expmmr[n]; else exp2=0;
al=abs(1l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
sl+=intcoef [k]*sourcel*rix* (expl-exp2);
}
}
s2=0;
for(j=i;j<imax-1;j++){ // integral over [j*h, (j+1)*h], j*h>=r0
for (k=0;k<6;k++){
1=j+k-2;
ri1=1%h;
n=1-i+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
n=1+i+expsft; if(n<nexp) exp2=expmmr[n]; else exp2=0;
al=abs(l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
s2+=intcoef [k] *sourcel*rix*(expl-exp2) ;
}
}
phi[il=h*(s1+s2)/(2*m*r0) ;
}
return O;
}
// block 2 : end

// block 3 : start
//  No global variables are referred.
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int interpolate(double *y, int n){

/*
double y[n],
y[0l,y[2],y[4],...,y[n-5],y[n-3],y[n-1] : given.
y[1],y[3]1,y[5],...,y[n-6],y[n-4],y[n-2] : to be interpolated.
n must be an odd integer not less than 7.
y[-il=y[i] assumed.
y[i]=0 assumed for i >= n.

*/
int i;
double fO= 3.0/256.
double £1=-25.0/256.
double f2= 75.0/128.
double 3= 75.0/128.
double f4=-25.0/256.
double f5= 3.0/256.

-

O O O O O O

if (n¥%2==0] |n<7){
exit(1);
}

y[1] =foxy[4] +fixy[2] +f2xy[0] +£3xy[2] +f4xy[4] +£f5xy[6] ;
y[3] =fOoxy[2] +f1xy[0] +f2xy[2] +f3xy[4] +fdxy[6] +f5+y[8] ;

for(i=5;i<=n-6;i+=2){
y[il=f0xy [i-B]+f1xy[i-3]+f2xy[i-1]+£3*y[i+1]+f4*y[i+3]+£5*y[i+5];
}

// NB) density beyond the maximum radius is approximated with zero.
// A better treatment is to construct 5-pt and 4-pt formulae

// and use them for these points.

y [n-4]1=£0*y [n-9]+f1*y [n-7]1+£2%y [n-5] +£3*y [n-3] +£4*y [n-1] ;
y[n-2]1=£0*y [n-7]1+f1xy [n-5] +f2*y [n-3] +£3*y [n-1] ;

}
// block 3 : end
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